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Question Title N Mean SD Max Mark FF Attempt % the dc.)cym:dnt;n: re(—j
1 4221 12 0.6 2 60.7 99.9 open itin Adobe Reader
in order to fully access
33 4197 0.9 03 1 338 99.3 the exemplar material.
3¢ 4207 0.7 0.5 1 65.7 99.5
dai 3923 0.5 0.5 1 53 92.8
4b 4066 2.1 1.1 4 525 96.2
6a 4198 1 0.2 1 97.5 99.3
6 bii 4080 1.7 0.6 2 84.7 96.5
7b 3906 0.7 0.5 1 67.5 92.4
7d 4177 0.4 0.5 1 41.8 98.8
8a 4157 0.7 0.4 1 72.7 98.4
8¢ 3775 1.4 1.3 4 34.8 89.3
g dii 3496 0.4 0.7 2 18.9 82.7
9%a 3689 0.7 0.9 2 34.1 87.3
9c 4105 0.4 0.5 1 43.7 97.1
9e 4004 1.3 0.7 2 65.6 94.8
10a 4100 0.5 0.5 1 50.6 97
10 ¢ 3983 0.6 0.5 1 61.3 94.3
10e 3990 1.3 0.7 4 31.9 94.4
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4 (b)

Outline two extension strategies that Bertie’s Berry Crunch
could adopt to improve sales.

AO1: 2 marks
AO2: 2 marks

Award 1 mark for each suitable extension strategy identified (4 P’s)

Award 1 mark for each relevant outline of how the extension strategy
may boost sales

Indicative content:

Decrease the price- the product is no longer expensive compared to
other cereals — more customers are willing to buy it/afford it.

Promote the product / if the product is advertised e.g. on TV - more
people are aware of the cereal leading to increased sales.

Increase the number of places the product is sold/the cereal is now
sold in local shops/to other countries/online - increasing the size of
the target market.

Change the product / they could change the flavour/ingredients/make
the product healthier — appeal to a new target market.

Change the packaging — the product will be recognised against other
brands/may be more noticeable in the shops — attract the target
market/new customers.

Credit any other valid explanation of how an extension strategy could
increase sales. Can make 2 suggestions for the same P for 4 marks.
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The candidate is awarded 1x AO1 mark for change packaging but no AO2 awarded.
The candidate is awarded 1 x AO1 for new flavour but again no AO2 mark
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The candidate is awarded 1x AO1 mark for change packaging but no AO2 awarded.
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The candidate is awarded 1 x AO1 for new flavour but again no AO2 mark 



home

Arrow



home

Typewriter

2










Q4

1 x AO1 for change ingredients, no AO2 marks as
explanation not detailed enough 1 x AO1 for decrease the price and 1 x AO2 for more affordable.
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1 x AOL1 for changing the product. No AO2 awarded for explanation.

1

1 x AO1 for change packaging. 1 x AO2 mark for attracting a target market/audience
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1 x AO1 for changing the product. No AO2 awarded for explanation.
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1 x AO1 for change packaging. 1 x AO2 mark for attracting a target market/audience
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4(b) Outline two extension strategies that Bertie’s Berry Crunch could adopt to improve
sales. [4]











Q.8(c) Describe how Aberavon Car Centre could use Information Technology (IT) packages to
help in its workplace. [4]
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8 (c)

Describe how Aberavon Car Centre could use Information
Technology (IT) packages to help in its workplace.

AO1: 2 marks
AO2: 2 marks

Award 1 mark for limited knowledge of IT packages
Award 2 marks for good knowledge of IT packages

Award 1 mark for limited application of the IT packages to Aberavon Car
Centre

Award 2 marks for good application of the IT packages to Aberavon Car
Centre

Indicative content:

Word processing packages/Word - communicating with previous
customers to encourage them to buy another car.

Databases/Access- keeping accurate information about the amount of
cars in stock/keeping customer details to contact them to encourage them
to buy another car/keeping details about the cars such as cost or price.
Spreadsheets/Excel- calculate profits from the sales of cars/ produce
cash flow forecasts to ensure new stock can be bought.

Accountancy packages such as SAGE to calculate and produce financial
documents.

Video conferencing/Zoom/Teams- contact auctions or sellers so stock can
be bought without having to travel.

Computer graphic packages/Website design — create promotional
materials to encourage customers to buy cars.

PowerPoint — create a presentation to promote the business/their cars.

Credit other valid suggestions.











Q.8 (c) Describe how Aberavon Car Centre could use Information Technology (IT) packages to
help in its workplace. [4
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1 x AO1 for limited knowledge of IT packages for to "using IT to advertise". No genuine application to

Aberavon Car centre.



home

Arrow










Q8

1 x AO2 mark for "information about cars"

website/social media

1 x AO1 mark for use OW/
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1 x AO1 mark for use of website/social media 
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1 x AO2 mark for suggesting it can be used to keep information about stock.
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8(c) Describe how Aberavon Car Centre could use Information Technology (IT) packages to
help in its workplace. [4]
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10. (f) Consider how stakeholders may be affected by the decision to close the

Edinburgh shop. [10]
AO1 AO2 AO3
Band
3 3 4
3 marks 3 marks 4 marks
Excellent Excellent application to Beds | Excellent consideration of
understanding of the | UK. the impacts on the
stakeholders of a stakeholder of Beds UK.
business. There is clear and direct
reference to Beds UK. The answer will fully
A clear consider both positive and
3 understanding of how negative impacts on the
business decisions stakeholders of Beds UK.
affect the different
stakeholders. Writing is very well
structured using accurate
Specialist vocabulary grammar, punctuation and
is used with spelling.
accuracy.
2 marks 2 marks 2-3 marks
Good understanding | Good application to Beds Good consideration of the
of the stakeholders of | UK. impacts on the stakeholder
a business. of Beds UK.
There may be some
An understanding of | reference to Beds UK. The answer will consider
2 how business both positive and negative
decisions affect the impacts on the stakeholders
different of Beds UK but may be
stakeholders. unbalanced.
Good use of
specialist vocabulary.
1 mark 1 mark 1 mark
Limited Limited application to Beds Limited consideration of the
understanding of a UK. impacts on the stakeholder
stakeholder of a of Beds UK.
business. There may be brief
reference to Beds UK. The answer will consider
1 An understanding of only positive or negative
how business impacts on the stakeholders
decisions affect the of Beds UK.
stakeholder.
Limited or no use of
specialist vocabulary.
0 marks 0 marks 0 marks
0 No understanding of | No reference is made to No valid consideration of

the stakeholders of a
business.

Beds UK or the profit and
loss account or the data.

the impacts is given.






Indicative content
Answers could include:
Owners:

Positive; The owners can reduce the costs of the business. By closing the Edinburgh
shop, they can reduce rent, rates and wage payments which are the main costs of the
business. This may improve the profitability of the business and improve its financial
performance.

Edinburgh is the furthest away from the Head office so may be furthest for suppliers, this
reduces transport costs for the business, increasing profits.

Edinburgh is furthest away from the Head Office so this may improve how the owners
control the business. This may mean they can improve the performance of the other
stores.

Negative; The owners may get negative media coverage from closing the shop in
Edinburgh, leading to a fall in reputation. This may mean that customers in other parts of
the UK stop using the business.

Closing the Edinburgh shops will mean that they have no sales in Scotland. This could be
a large market for them which may reduce revenue significantly, this will reduce the
income of the business.

The owners may have to pay redundancy payments to workers, this will increase costs in
the short-term.

Workers:

Positive; The workers from the Edinburgh store may be offered new jobs in the other
stores or the Head office which may include promotion opportunities. This could see them
increase their earnings.

Negatives; Likely to lose jobs and therefore have no income. May be hard to find a similar
job. Workers in Beds UK were paid commission which may not happen in other
businesses and will reduce their income even when they get a new job. Some may have
to relocate for new jobs with the business.

Customers:

Positive; The reduction in costs may allow the business to price its products more
competitively reducing prices for customers. Customers are able to save money when
they buy products from Beds UK.

Negatives; Customers in both Edinburgh and Scotland will not be able to buy Beds UK
products any longer. This means that they will have to use other shops which may be
further away or not meet their needs. Those customers in Edinburgh with beds in warranty
may find it more difficult to get after sales service without the shop. There are no online
sales either.

Suppliers:

Positive; Paossible reduction in transport costs to Edinburgh as may be furthest from its
factory. May reduce costs by relocating to an area nearer the other three stores e.g.
Birmingham. May increase prices for Beds UK as the orders are in smaller amounts so no
bulk buying discounts (economies of scale)






Negatives; Reduction in sales to Beds UK as there is one less store. This may lead to a
fall in sales, revenue and therefore profits. May reduce orders with its suppliers,
increasing costs as they may not get a bulk buying discount on lower stock orders.

Competitors:

Positive; Other Bed shops may see an increase in sales as Beds UK are no longer
competing in the local market. This will improve their profitability. Less competition could
allow a business to increase its prices and therefore increase revenue/profit margin/

Negatives; A larger competitor could be attracted into the local market as a major rival
has left. This could cause sales to fall. Customers looking for beds may no longer come to
the local area, reducing footfall for other bed businesses.

Local Community:

Positive; A new shop may move into the vacant spot that Beds UK was using. The new
shop may be better for the local area, a more worthwhile service provided. Increasing
footfall in the local area.

Negatives; The shops will be vacant and could reduce the appeal of the local area. This
may reduce the chance of other businesses moving into the area. It may reduce footfall in
the local area for other businesses, reducing their trade and therefore their
revenue/profits. Those that have been made redundant may not get a job, reducing their
spending in local businesses.

Consider Positives and Negatives for other stakeholders e.g. Government

Credit any other valid response.
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The Candidate is aware of the main impacts on stakeholders of the Edinburgh store closing
so is awarded 3 x AO1 marks. 2 x AO2 marks are awarded. The candidate has used some
of the information in your answer e.g. manager and sales team, notes that Beds UK have
no other shops in Scotland, mentioned. 1 x AO3 marks as all the impacts are negative.
Candidates must consider positive impacts for further marks.

AO1-3 AO2-2 AO3 -1
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The Candidate is aware of the main impacts on stakeholders of the Edinburgh store closing so is awarded 3 x AO1 marks. 2 x AO2 marks are awarded. The candidate has used some of the information in your answer e.g. manager and sales team, notes that Beds UK have no other shops in Scotland, mentioned. 1 x AO3 marks as all the impacts are negative. Candidates must consider positive impacts for further marks. 
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The Candidate is aware of most of the main impacts on stakeholders of the Edinburgh
store closing. There is some lack of accuracy in the terminology and suggestions so 2 x
AO1 marks are awarded. No AO2 marks are awarded as the answer is generic. Stating
the "Edinburgh shop" is not AO2 marks. 1 x AO3 marks as all the impacts are negative.
Candidates must consider positive impacts for further marks.

AO1-2 AO2-0 AO3 -1
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The Candidate is aware of most of the main impacts on stakeholders of the Edinburgh store closing. There is some lack of accuracy in the terminology and suggestions so 2 x AO1 marks are awarded. No AO2 marks are awarded as the answer is generic. Stating the "Edinburgh shop" is not AO2 marks. 1 x AO3 marks as all the impacts are negative. Candidates must consider positive impacts for further marks. 
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The Candidate is aware of most of the main impacts on stakeholders of the Edinburgh store closing, so
3 x AO1 marks are awarded. 3 x AO2 marks are awarded as the answer makes reference to the data
e.g. use of expenses from the P&L, branches are far apart, customers may not use them regularly as
furniture is an irregular purchase, 3 x AO3 marks as the candidate has suggested negative, positive
and neytral outcomes. The candidate could be more precise with their language but has made a good
attempt. AO1-3 AO2-3 AO3 -3
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The Candidate is aware of most of the main impacts on stakeholders of the Edinburgh store closing, so 3 x AO1 marks are awarded. 3 x AO2 marks are awarded as the answer makes reference to the data e.g. use of expenses from the P&L, branches are far apart, customers may not use them regularly as furniture is an irregular purchase, 3 x AO3 marks as the candidate has suggested negative, positive and neytral outcomes. The candidate could be more precise with their language but has made a good attempt.  AO1-3 AO2-3 AO3 -3










Exam
onl

Beds UK has decided to close the Edinburgh (Scotland) shop. This decision will affect
stakeholders such as the owners, the workers, customers and suppliers.

10(f) Consider how stakeholders may be affected by the decision to close the Edinburgh
shop. [10]












































































































